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How a prism lens may
help dyslexics see better |ignt bends

through prism lens
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The prism puts light l,‘;
into an area of the
retina at the back

of the right eye,
allowing it to

match the left eye.




Bicentric Grinding or Slab-Off




Fresnel Press-on Prism




A prism deviated light 1cm
from its normal path, measured 1m
from the prism.
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Plus and Minus
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No Prism
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Prism Diopter
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d= decentration,
— or distance that OC is being moved

A= Prism in Diopters
10= Given (conversion from cm to mm)
D= Diopters of power, also know as “P”



Prescription is a +2.00 with 2A
find (d)
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eThis lens would have to be decentered 10mm to induce 2 diopters of prism
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Prescription Is a -8.00 with 2A
find (d)
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eThis lens would need to be decentered 2.5mm to induce 2 diopters of prism.



Prescription Is -4.25 with 1.5A
find (d)
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eThis lens would need to be decentered 3.5mm to induce 1.5 diopters of prism.
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